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template <class Record>
void MergeSort(Record Array[], Record TempArrayl[], int
left, int right) {
// Array NIFHEREEA |, left , rightfRig
int middle;
if (left < right) {// FFIHFRB0E1MER , ~HHF
middle = (left + right) / 2; // $ S RN FS
// SEB—FE# 7R3
MergeSort(Arrav TempArray,left,middle);
// SaEIB— TR
MergeSort(Array, TempArray,middle+1,right);
Merge(Array, TempArray,left,right,middle); // |35
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template <class Record>
void Merge(Record Array[], Record TempArrayl[], int left,
int right, int middle) {
int i, i, index1, index?2;
// BEEEFNImRTEE
for (j = left; j <=right; j++)
TempArrayl[j] = Arraylil;

index1 = left; // TR E
index2 = middle+1; // GOFF5IRTRIEMNE
i = left; // NEFIRIAF
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while (index1 <= middle && index2 <= right) {
// BB/ NERNGFHEEF
if (TempArray[index1] <= TempArray[index?2])
Array[i++] = TempArray[index1++];
else Arrayli++] = TempArray[index2++];
}
while (index1 <= middle) // RIFRNEFS , AL EZEES
Arrayli++] = TempArrayl[index1++];
while (index2 <=right) // S5ENMERER , EHlGFS

Array[i++] = TempArray[index2++];
}
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template <class Record>
void ModMergeSort(Record Array[], Record TempArray[], int left, int
right) {  // Array SfGHEFEE | left , rightfim
int middle;
if (right-left+1 > THRESHOLD) { // 5%
middle = (left + right) / 2; // MHREIX AR FFS
ModMergeSort(Array, TempArray ,left,middle); //
ModMergeSort(Array, TempArray ,middle+1,right);// &
// STEPNBEFRFFHITIFFHF
ModMerge(Array, TempArray ,left,right,middle); // |35
}
else InsertSort(&Array[left],right-left+1); // /INEHIENHF

}
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template <class Record> void ModMerge(Record
Array[],Record TempArray[],int left,int right,int middle) {
int index1,index2; // BNTFEFIREMNE
int i,j,k ;
for (i = left; i <= middle; i++)
TempArray[i] = Arrayl[i]; // EREBNFFS
for (j = 1; j <=right-middle; j++) // BUEIEFIGF5
TempArray[right-j+ 1] = Array[j+middle];
for (index1=left, index2=right, k=left; k<=right; k++)
if (TempArray[indexl] <= TempArray[index2])
Array[k] = TempArray[index1++];
else
Array[k] = TempArray[index2--];

}
L 11 e (MRS EL)



I /= —

RHEFE | 8.5 AFHEE

BEEFED R
- EURT : 6(n)
- XIoRE. HEFERSE. |3FETE
T(N)=2T(n/2)+cn

- T(1) =1
- FAFHER RS EY MBS
- O(nlog n)

- MK T RIBEBRENGER , =K.
BN IS8 0(nlog n)

B/ NAR RS

| —

I 12 e (MRS EL)



Y

RHEFE | 8.5 VIAHHER

5

- HIE3FF Sedgewick BiZEFEFRERING ?
- FNNRAAERZBIEMN ?
- “EABILCBUREFOME B IR EN
- AFHITFRA NinEa R 2R F W

Bk 3 (RIS i)



R (BIRGHSEE)

N
HiEEEESREE
BHEES I
ERBRE RS

http://www.jpk.pku.edu.cn/pkujpk/course/sjjg/

5KER , ERBET , ik
S EHIRM , 2008.6, “+—H" EIRFFHLIEHF




